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Question Number : 1 Question Id : 6232177241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

[f there 1s unrest 1n the college, the main reason may be

Options:



Management
1.

System of education

2.

Teacher
]
P Student

Question Number : 2 Question Id : 6232177242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Students like the teacher most because he
Options:

1 Gives more marks

Maintains student discipline
z.

Shows concern about students

Avoids meeting the students
4,

Question Number : 3 Question Id : 6232177243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A teacher can prevent the fluctuations of attention of the students in the classroom by
Options:

. Reprimanding them

Using proper stimulus
2.



_ Implementing rules strictly

Repeating the important points
4,

Question Number : 4 Question Id : 6232177244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Teacher should correct the work done by the students by following one of the techniques

Options:

I11 treatment

) Pass and ftail

Good relationship
B

Bad Aftect

4.

Question Number : 5 Question Id : 6232177245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Over — motivation by teacher in the class room leads to
Options:

1 I1] treatment

Good environment
2.

Good relationship
o

Bad Aftect



Question Number : 6 Question Id : 6232177246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Achievement Motivation’ can be influenced mostly by

Options:

. Reinforcement by teacher
, Environment
_ Teaching — learning material

Self — Evaluation by student

4

Question Number : 7 Question Id : 6232177247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A teacher can 1dentify a disabled with the help of
Options:

Who 1s affected by the environment

Who may not be atfected by the environment
2.

Who 1s well with the other people

3

Who 1s equally competent with others
4,

Question Number : 8 Question Id : 6232177248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The full form of ‘ITEP’ 1s

Options:



Integrated Teacher Education Programme

Intensive Teacher Education Programme
_ Inclusive Teacher Education Programme

In-service Teacher Education Programme

Question Number : 9 Question Id : 6232177249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

If a teacher wish to improve his classroom teaching well, he should better involve?

Options:

Personal Activity
1.

School programmes
2.

Governmental Activities
=,

Action Research

Question Number : 10 Question Id : 6232177250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The following 1s not a measure of dispersion
Options:

Standard deviation
1.

Variance
=z,



Quartile deviation
=

; Mean

Question Number : 11 Question Id : 6232177251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
An appropriate source to find out descriptive information 1s
Options:

. Directory
Bibliography

Encyclopaedia

Dictionary
4.

Question Number : 12 Question Id : 6232177252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The term ** Control Group™ 1s used 1n
Options:

Historical research

Experimental research
i

Survey research
=

Descriptive research
4,



Question Number : 13 Question Id : 6232177253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following 1s not related to plagiarism
Options:

Academic dishonesty
1.

Branch of Journalistic ethics
2.

Stealing and publication of another author
o

, Self-citations

Question Number : 14 Question Id : 6232177254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

As sample size mcreases the following 1s true

Options:

. Sampling error increases

Sampling error decreases
2.

Non sampling error decreases
>,

Level of significance increases
4

Question Number : 15 Question Id : 6232177255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The tull form ot APA 1n citation 1s

Options:



American psychological Association
1.

American Philosophical Association
z.

All people Alphabets

3

American Pedagogical Association
4.

Question Number : 16 Question Id : 6232177256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Scaling method 1s used to measure

Options:

Quantitative variables
1.

] Attributes

Associations

Relations
4

Question Number : 17 Question Id : 6232177257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The data collected from records 1s called
Options:

Census data
1.



Primary data

2

Secondary data

&

Field data

Question Number : 18 Question Id : 6232177258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The Null hypothesis contains
Options:

. Population parameter

Sample statistic
i

Sampling distribution
=t

Estimator
4.

Sub-Section Number: 2
Sub-Section 1d: 623217242
Question Shuffling Allowed : Yes

Question Id : 6232177259 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Juestion Label - Comprehension



Read the following passage and answer the questions given:

From the 1920s onwards, we also find an increasingly active engagement of
women in the freedom struggle. Much has been said — and with justice — about the co-
option of women’s struggle for subjectivity into the nationalist agenda. Yet our analysis
would remaimn simplistic if we do not admit that the increasing active participation of
women in these nation — wide movements was changing the parameters of man-woman
relationship both within the movement and in society in general in subtle and indirect
ways. It was also making dents in the ideological boundaries within which the
consciousness of the middle class woman traditionally operated. The experience of
participating in the Non-cooperation Movement and courting arrest involved a
perception of oneself that did not tally with traditionally — constructed self — umages.
Then again when women, in their contact with armed revolutionaries, graduated from
the role of giving shelter and hiding arms to that of participating in or even leading
armed action, they had to breach very stiff barriers of conventional behaviour. There
15 no doubt that the strategies of the armed revolutionaries imposed severe control over
women’s sexually and that the ultimate leadership in armed struggle remained with the
men. Yet it cannot be denied that this participation demanded that women should create
new roles for themselves and in doing so should transgress norms of gender and class
relationship. This process became more pronounced when women joined mass-

movements organized by the Leftist forces.

Sub questions

Question Number : 19 Question Id : 6232177260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What was the turning point in our Freedom Movement from 1920s?

Options:

1 Withdrawal of women from the Movement

Passive role of women 1n the Movement

. Increasingly active engagement of women



Conflict between men and women
4.

Question Number : 20 Question Id : 6232177261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What was the option of women 1in those times?
Options:

Subjectivity into the national agenda
1

Mere observation of the movement
=

Supporting men from home’
=]

, Non —nterfering attitude

Question Number : 21 Question Id : 6232177262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Why were the parameters of man — woman relationship changed
Options:

1 Imposition of British culture on Indian society

Women’s opposition to male domination
z.

] Increase 1n the rate of women’s education

, Active participation of women in the Movement

Question Number : 22 Question Id : 6232177263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The 1deological boundaries of the middle class women of 1920s were

Options:



. Steadfast

. Moditied

. Dangerous

) Strengthened

Question Number : 23 Question Id : 6232177264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
| What were the reasons for transformation of traditionally constructed self-image of women?
Options:

Women’s active participation in the freedom struggle

1

. Women taking part in Non-cooperation Movement’

Women courting arrest and going to jail
3.

All of the other options

4

Question Number : 24 Question Id : 6232177265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Why did women breach stiff barriers of convention?
Options:

To lead armed action

To discourage the male activists and revolutionaries
2

To disconnect themselves from the Movement



To control their sexuality
4.

Question Number : 25 Question Id : 6232177266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

How did the men revolutionaries keep the ultimate leadership in armed struggle with
them?

Options:

By restricting women to household chores
1

, By sending women to educational institutes
. By encouraging them to learn handicratts

By imposing severe control over women’s sexuality
4,

Question Number : 26 Question Id : 6232177267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What did women do 1n order to create new roles for themselves?
Options:

Trained their children to be patriotic
1.

Abided by the norms of society

2

Transgressed gender and class
=

Honed their skills

4

Question Number : 27 Question Id : 6232177268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



To further their role in armed revolution, women joined mass movements organized by

Options:

1 Mahatma Gandhi

Leftists

2

Arya Samaj
=,

Azad Hind Fauy

Sub-Section Number: 3
Sub-Section I d: 623217243
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232177269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

One of the following 1s not related to the areas of Johar1t Window’s interpersonal

communication.
Options:

1 Hidden Area

y Known Area

] Blind Area

; Unknown Area

Question Number : 29 Question Id : 6232177270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



The questioning device of communication “who says what in which channel to whom

with what effect?”. Suggested by
Options:

. Herald Laswell

, Herald Lasky

_ George Gerbene

Herbert spencer
.

Question Number : 30 Question Id : 6232177271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The purpose of the freedom in communication results in
Options:

1 Authority
; Reduction

. Control

) Demotivation

Question Number : 31 Question Id : 6232177272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Computer Assisted Instruction (CAI) 1s based on one of the following principle.

Options:

1 Classical conditioning

Sender conditioning
2



Operant conditioning
=

Respondent conditioning
4.

Question Number : 32 Question Id : 6232177273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Berlo’s model of communication has the following four elements

Options:

. Source, message, noise, barrier

Source, message, channel, receiver
2.

Source. channel. receiver. feedback
=,

Source. receiver, message. medium
4.

Question Number : 33 Question Id : 6232177274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Community radio comes under
Options:

1 Instructional Media
Social Media

=z,

. Mass Media

: Digital Media

Question Number : 34 Question Id : 6232177275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



‘Diorama’ 1s an extension of the following
Options:

1 Four Dimension

Uni — Dimension
=z,

] Two — Dimension

) Three — Dimension

Question Number : 35 Question Id : 6232177276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In a ‘Dyad” communication. the number of persons involved are

Options:

-

1 D

4

2

t_hn

Question Number : 36 Question Id : 6232177277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

‘Hermeneutics™ 1s a branch of knowledge. whose main role of the teacher 1s to
Options:

1 Teach the philosophy of behaviour

, Interprets the meanings of codes



_ Indicates the process of communication

Announces political statements
4,

Question Number : 37 Question Id : 6232177278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The number that comes next in the sequence 4. 60, 212 1s

Options:

339

%)
s
N

Question Number : 38 Question Id : 6232177279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

i - . B sk snd
Identify the missing number in the sequence 33 500, g, . 60.
Options:
. 0

45
z.

3

46—
3 O

33
4.

Question Number : 39 Question Id : 6232177280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which term comes next in the sequence YEB. VHG, SKL. PNQ. ?

Options:

MQV

1.

MOR

2.

ROS

3.

SQT

4.

Question Number : 40 Question Id : 6232177281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A man purchased 20 watches for a cost of X200 and sold them for I300. What 1s the

percentage of profit he got?

Options:

50

1

40
z.

= 60

100

4.

Question Number : 41 Question Id : 6232177282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If x:y=3:4, then(5x+3y):@x+7y)=

Options:

11:8
1.



2.

27 - 40
=

40 : 27
4

Question Number : 42 Question Id : 6232177283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The average marks of 23 students 1s 45 and the average marks of another 27 students

1s 55. Then the average marks of all the students put together 1s

Options:

50
1.

50.4
z.

48
>,

48.

rh

Question Number : 43 Question Id : 6232177284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The difference between the compound interest and the simple interest on a certain sum

for two years at the same interest rate 8% per annum 1s 64. Then the sum 1s 1n rupees

Options:

. 15,000
_ 12,000

_ 10,000



8.000
4,

Question Number : 44 Question Id : 6232177285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In a certain code 4523 1s written as 5476 and 2871 1s written as 7128. Then the code

for 2018 1s
Options:

. 7198l

9001
z.
7901

5798

Question Number : 45 Question Id : 6232177286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A train passes a pole of height 3 meters in 10 seconds and a platform of 130 meters

long in 36 seconds. Then the speed of the train in km/h 1s

Options:

23

18

Sub-Section Number : 4
Sub-Section I1d: 623217244
Question Shuffling Allowed : No



Question Number : 46 Question Id : 6232177287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which word does not belong with the other?
Options:

, Congar

) Leopard

. Elephant

Lion
4,

Question Number : 47 Question Id : 6232177288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The word in the bottom row one related in the same way as the words in the top row.
For each item find the word that completes the bottom row of words
Candle, Lamp. Flood light

Hut, Cottage,

Options:

1 Tent
City’
2.

. Dwelling

House
4,

Question Number : 48 Question Id : 6232177289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In the following a statement 1s given. The statement 1s followed by two conclusions.
Identify which of the given conclusions logically follows:
Statement:  Some actors are singers. All the singers are dancers.
Conclusions : 1. Some actors are dancers
2. No singer is actor

Options:

. Only (1) conclusion follows

) Only (2) conclusion follows

. Both (1) and (2) follows
, Neither (1) nor (2) follows

Question Number : 49 Question Id : 6232177290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In the following series. you will be looking a pattern. Fill the blank in the series.

SCD, TEF, UGH, WKL,

Options:

. CMN

UJI

2.

\A|

ar

T

4.

Question Number : 50 Question Id : 6232177291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In the following series, vou will be looking pattern. Fill the blank 1n the series.

BCB, DED. FGF. HIH
Options:

JKJ

1.

HJH

i

. 1l

JHI

4.

Question Number : 51 Question Id : 6232177292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Here are some words translated from an artificial language:
Hepllesh means cloudburst
Srenchoch means pinball
Resbosrench mean minepin

Which word could mean Clonalnine?
Options:

1 Leshsrench

) Haplresho

Haploch

3

, Ochhapl.

Question Number : 52 Question Id : 6232177293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



If the day after the day after tomorrow 1s four days before Monday. What day 1s it

today?

Options:

Tuesday
i

) Wednesday
] Thursday

) Monday

Question Number : 53 Question Id : 6232177294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Rama is younger than Rao

Raju was born after Rama

If the above two statements are true. then which the following statement 1s correct?
Options:

. Rao 1s older than Raju

_ Rama 1s older than Raju

Both Rao and Rama are older than Raju
=

None of the other options
4,

Question Number : 54 Question Id : 6232177295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Knowledge based on memory 1s known as

Options:



Direct perception
.,

Indirect perception
2.

. Inference

Analogy
4

Question Number : 55 Question Id : 6232177296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

mformation answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eyes
JTanuary 4 6 6
February 6 2 8
March 6 4 1
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8

The total number of successtul operations performed during the months having 31 days

of the given period is
Options:

37
1 o

48

z.



Question Number : 56 Question Id : 6232177297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

information answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eves
January 4 6 6
February 6 2 8
March 6 4 4
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8
The percentage of successful operations from January to April of the year 2019
Options:
; 40
, 00.5
5 62.5
. 04

Question Number : 57 Question Id : 6232177298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

information answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eyes
January 4 6 6
February 6 2 8
March 6 4 4
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8

If there are 50 more operations left to be performed. then how many operations must

be successful in order to make the overall percentage of successful operations to 60?
Options:

, 42

Lad
(]

Question Number : 58 Question Id : 6232177299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following figure carefully and answer the question given below. In the

figure O represents the students studying Mathematics, represents the students

studying Physics and|  |represents the students studying Chemistry.

3y

Students who study Mathematics and Physics only are represented by

Options:

C

> E

Question Number : 59 Question Id : 6232177300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Study the following figure carefully and answer the question given below. In the

figure O represents the students studying Mathematics, represents the students

studying Physics and[  |represents the students studying Chemistry.

A

2 L

Students who study Chemistry only are represented by



Options:

1 B.GDandF

Dand F
2.
3_ C.D.EandF

i D.E and F

Question Number : 60 Question Id : 6232177301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure carefully and answer the question given below. In the

= SEm : 3
figure (_J ) represents the students studying Mathematics, represents the students
studying Physics and represents the students studying Chemistry.

/”fT'\H
[ =] |
N 8 S

Students who study all the three subjects, i.e., Mathematics, Physics and Chemistry

Options:

1 C. Dand F
5 Band C
. CandF

C

4.

Question Number : 61 Question Id : 6232177302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%. B — Paper cost 25% C — Binding cost 20%. D — Royalty 15%
E — Promotion cost 10%, F — Transportation cost.
If for a certain type of books, the publisher has to pay 24000 rupees towards Royalty,

then the amount to be paid towards the transportation is in rupees.
Options:

. 16000

, 12000

10500
3.

16800
4

Question Number : 62 Question Id : 6232177303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%, B — Paper cost 25% C — Binding cost 20%. D — Royalty 15%
E — Promotion cost 10%, F — Transportation cost.
The angle of the sector corresponding to the expenditure incurred on the binding cost,

is in degrees.
Options:

1. 36

48
2

Question Number : 63 Question Id : 6232177304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%, B — Paper cost 25% C — Binding cost 20%, D — Rovalty 15%
E — promotion cost 10%, F — Transportation cost.

If for a certain edition of a book, the paper cost in rupees 55000, then the expenditure
involved for the printing and the transportation together is in rupees

Options:

, 50000

66000
2

. 45000

38750
4.

Sub-Section Number: 5
Sub-Section 1d: 623217245
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232177305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following pollutants (s) can cause cancer in humans.
Options:

, Mercury

Lead
2|



- Ozone

. Pesticides

Question Number : 65 Question Id : 6232177306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which year Biosphere reserve project was initiated in India?

Options:

, 1986

, 1984
1989
3

1985
4,

Question Number : 66 Question Id : 6232177307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Phytoplanktons are the members of

Options:

Grass land ecosystem
8

, Forest ecosystem
; Aquatic ecosystem

, Desert ecosystem

Question Number : 67 Question Id : 6232177308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Photosphere is described as the

Options:



. Lower layer of atmosphere

Wave length of solar spectrum

- Visible surface of the sun from which radiation emanates

Global warming

Question Number : 68 Question Id : 6232177309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The earthquake waves which have transverse movements are known as
Options:

. Secondary waves

5 Tidal waves

. Primary waves

J Surface waves

Question Number : 69 Question Id : 6232177310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A lunar eclipse occurs when.

Options:

3 Sun. Moon and Earth are not in the same line
. Earth comes between the Sun and the Moon
. Moon comes between the Sun and the Earth

Sun comes between the Earth and the Moon
4,



Question Number : 70 Question Id : 6232177311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
“Joy water fall” is located in
Options:

Karnataka

5 Kerala

: Andhra Pradesh

n Maharashtra

Question Number : 71 Question Id : 6232177312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The central pollution Board was established under the following Act in India.
Options:

; Water (Prevention and control of pollution) Act, 1974
; Air (Prevention and control of pollution) Act. 1981
- Urban area (Prevention and control of pollution) Act. 1976

, Noise pollution (Regulations and control) Act. 2013

Question Number : 72 Question Id : 6232177313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
According to Andhra Pradesh government sand mining policy announced on

4™ September 2019. the stock yards are operated by.
Options:

, APMDC

, APPCB



. CREDAI

. AP Green Tribunal

Question Number : 73 Question Id : 6232177314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The full form of FTP is
Options:

, File Transaction Protocol
5 File Truncation Protocol

y File Transfer Protocol

File Transfer Processing
4

Question Number : 74 Question Id : 6232177315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

With regard to computer memory which of the following statement (s) is/are true.
(1) ROM is volatile memory
(i1) RAM is volatile memory
(111) Secondary memory is volatile

Options:

1 (1) only

) (11) only

. Both (1) and (i1)

; (1) and (i11) only



Question Number : 75 Question Id : 6232177316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If binary equivalent of the decimal number 48 is 110000, then the binary equivalent
of decimal numbers 51 i1s

Options:

. 110010

110011
2

, 110001

110100
4.

Question Number : 76 Question Id : 6232177317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is not open source software?
Options:

1 Internet explorer

, Open office
] Fedora Linux

, Apache HTTP server

Question Number : 77 Question Id : 6232177318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Firewall in computers is used for

Options:

Security
1

X Data transmission



3 Authentication

y Monitoring

Question Number : 78 Question Id : 6232177319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
IC chips for computer are made of
Options:

, Silver

. Aluminium
- Silicon

. Steel

Question Number : 79 Question Id : 6232177320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
The following protect computer system from hackers.
Options:
Antivirus
1.

, Backup
; Hard disk

Firewall

Question Number : 80 Question Id : 6232177321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

“IT for mass™ is a plan scheme.

Options:



. Department of electronics and information technology
o University grants commission

. MHRD

; AICT

Question Number : 81 Question Id : 6232177322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The full form of NPTEL is

Options:
g National Programme on Technology Enhanced [earning

, National Programme on Technology Enforced Learning

National Project for Technology Enhanced Learning
=

National Project for Technology Enforced Learning
4

Question Number : 82 Question Id : 6232177323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The first Open University was set up in the State of

Options:

. New Delhi

, Arunachal Pradesh

3_ Tamil Nadu

Andhra Pradesh
4,



Question Number : 83 Question Id : 6232177324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
During Vedic period the students who studied in Gurukula lived in

Options:
s Ashram

. Gur’s house

Parents’ home
]

2 Forest

Question Number : 84 Question Id : 6232177325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The concept of ‘Smritimana’ given by Yagva-Valkya was based on the principle of
Options:

Accuracy
1.

" Purity

. Yagna

3 Memorization

Question Number : 85 Question Id : 6232177326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The Buddhist Education was offered in

Options:

: Home

Sanghas
Z.

Ashramas
o



, Congregation

Question Number : 86 Question Id : 6232177327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In an Open University one of the system of evaluation will be

Options:

. Formal Assessment

Summative evaluation
=

- Self — evaluation

i Formative evaluation

Question Number : 87 Question Id : 6232177328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

‘Build school in every village’ was propagated by
Options:

1 Robert De Nobilli

- St Xavier

5 St. Thoinas

Robert Clive
4,

Question Number : 88 Question Id : 6232177329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An illiterate and ignorant nation can never make any solid progress and must fall back
in the race for life” said by

Options:

1 M.K. Gandhi



, Sarvepalli Radhakrishnan

: G.K. Gokhale

. Raja Ram Mohan Roy

Question Number : 89 Question Id : 6232177330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The original meaning of *Vandemataram’ sung by students in the schools is
Options:

, Long live the King
. King is the God
. King and God are alive

’ God save the King

Question Number : 90 Question Id : 6232177331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

‘Shikshak Samakhya® (Teacher Empowerment) was initiated and first began in the

state of Madhya Pradesh by UNICEF emphases on

Options:

. Teacher effectiveness

Teachers’ creativity
2:

Teacher autonomy
3

Teachers’ creativity and Teacher autonomy
4
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Question Number : 91 Question Id : 6232177332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In the following systems, which did not exist for electing people to take up
administration in the Republics of ancient India?
Options:
Only Kshatriyas were given the right to frame laws and elect the members of the
, executive.

. Heads of the families elected the executive.

All the adults elected the members to frame laws and those members, in turn.
- elected the members of the executive.

All the adults of the population elected the members of the executive.
4.

Question Number : 92 Question Id : 6232177333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which has been regarded as the most remarkable feature of the Amaravati School of
Sculpture?

Options:

Depiction of love. compassion and devotion.

, Huge size of images.



Physical beauty and sensual expressions.
oy &

. Use of marble.

Question Number : 93 Question Id : 6232177334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Why Samudra Gupta came to south on invasion?
Options:

To annex the southern kingdoms mto his empire.
1.

. To loot the wealth of south India.

, To get annual tribute from the rulers of the south.
, To bring the southern kingdoms under his sovereignty.

Question Number : 94 Question Id : 6232177335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

How emperor Kanishka died?
Options:
Ina battle against the Chinese.

) Due to ill-health.

! His soldiers and commanders killed him.

, Because of a place intrigue.

Question Number : 95 Question Id : 6232177336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The greatest achievement of Pushyamitra Sunga was

Options:

He kept the territory of the empire intact.
1.

He revived the Brahmanical religion.
z,

Vidarbha was conquered during his reign.
>,

He successfully repulsed the repeated Greek invasions.
4.

Question Number : 96 Question Id : 6232177337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Vijayanagara and Bahmani kingdoms were established in south when the following was
Delhi Sultanate.

Options:

Nasarth Shah.
, Ala-ud-din-Khilzi.

Firoz Shah Tughlug.

=

, Mohammad-Bin-Tughluqg.

Question Number : 97 Question Id : 6232177338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The earliest kanarese work on poetics, ‘Kavirajamarga’ was written under the patranage
of the following:

Options:

, Krnishna I

5 Govinda III



Indra ITT
, Amoghavarsha

Question Number : 98 Question Id : 6232177339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Sankaracharya propagated the philosophy of:

Options:
, Bhakt.
Mimamsa.

- Monisim
; Dualism

Question Number : 99 Question Id : 6232177340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In the following historians, who described the invasions of Mahmud Ghazni as
‘Jihads’?

Options:

. Firdausi.

5 Alberuni.
Utbia.

=

Sulaiman.
4

Question Number : 100 Question Id : 6232177341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Among the following, which was not one of the political causes of the Revolt of 1857?

Options:



The distrust of the native rulers against the expansionist policy of the English.

Disrespect of rulers and their family-members by the English created a hostile
, attitude among the subjects.

The distrust of the people against the British administration.

The declaration of Lord Canning that the title of the Mughal emperor would be
, abolished after the death of Bahadur Shah.

Question Number : 101 Question Id ;: 6232177342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which among the following measures of Lord Ripon was meant to redress the injustice
done by Lord Lytton to Indians?

Options:

1 Factory Act, 1881.

Policy of financial devolution.
2

] Resolution on Local Self-government, 1882.

Repeal of Vernacular Press Act, 1882.

4

Question Number : 102 Question Id : 6232177343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following was not one of the measures taken by Lord Curzon for the betterment of
agriculture and peasants.
Options:

Introduction of Mahalwari revenue-system 1n Punjab.
. .

The Co-operative Credit Societies Act.
Z.



y The Punjab Land Alienation Act.
, Establishment of an Imperial Agriculture Department.

Question Number : 103 Question Id : 6232177344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following was not one of the causes of the Indian Renaissance.

Options:

1 Christian missionaries provoked the Indians to defend their religion.

English educated Indians, by grasping Western ideas. got the clue for bring forth

progress 1n different spheres of Indian life.
Z.

Indians felt the necessity of reviving their ancient religion and past traditions.
=

Certain western scholars by their writings, received the faith of the Indians in their

culture, who now thought of reviving it.
4,

Question Number : 104 Question Id ;: 6232177345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following was not one of the disadvantages of the permanent settlement introduced
by Lord Cornwallis in Bengal.

Options:
It strengthened the bonds of slavery of the Indians.

The company could not enhance the revenue even when production was increased.
2

The trade of the company suffered because the peasants lost their purchasing

capacity.
3.

) The peasants were left at the mercy of the land lords.

Question Number : 105 Question Id : 6232177346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

The following was not one of the factor of extending the British Empire in India by
Lord Wellesley.

Options:

Doctrine of Lapse.
, wars

. Mediatisation.

Subsidiary alliance.

Question Number : 106 Question Id : 6232177347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Third Anglo-Mysore war has taken place due to the reason understated:

Options:

Tipu Sultan attacked Madras.

1

Tipu Sultan attacked the Raja of Travancore.
z.

Tipu Sultan declared war against the Nizam.
=

T1ipu Sultan attacked Karnataka.

Question Number : 107 Question Id : 6232177348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Who expressed the view, that Noorjahan 1s not known to Jhangir, when he was a prince?

Options:

S.R. Sharma.



R.P.Tripathi.

] Ishwari Prasad.

Beni Prasad.
4.

Question Number : 108 Question Id : 6232177349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which among the following, has not been accepted as one of the courses of the revolt
of ShahJahan?

Options:
Conlflict of the powertful personalities of Noor Jahan and Shah Jahan.
1::

Shah Jhan’s refusal to obey the orders of Jahangir, when the Persians besieged
; Kandahar.

. Noor Jahan desired to coronate Shaharyar atter JThangir.

Shah Jahan had become impatient to capture the throne.

Question Number : 109 Question Id : 6232177350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who among the following was not a prominent historian of Romantic Shool?

Options:
Edmund Burke.
. Frederick Eichhor.

2 Walter Scoft.

, St. Augustie.



Question Number : 110 Question Id : 6232177351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
One of the following can not be cited to justify Akbar as a national king.

Options:

His uniform administration.

. His religious policy.

. His efforts for cultural synthesis among the Indians.

His Rajput policy.

4.

Question Number : 111 Question Id : 6232177352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Sheikh Nizamuddin Aulia belonged to the following order:
Options:

. Nakshbandrya Branch of Sufism.

Kadariya Branch of Sufism.
2.

] Suharavardiya Branch of Sufism.

) Chistiya Branch of Sufism.

Question Number : 112 Question Id : 6232177353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who has written ‘Kitab-ul-Hind’?
Options:

1 Alberuni.

. Amir Khusru.



- 1bn Batuta.

) Minhaz-us-Siraz.

Question Number : 113 Question Id : 6232177354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Traditions of history writing starts with
Options:

Rome.

China.

. Greece.

) Germany.

Question Number : 114 Question Id : 6232177355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which was the most flourishing industry in India during the British rule?
Options:

1 Cloth industry.

Indigo mdustry.
z.

. Jute industry.

Metal industry.
4.

Question Number : 115 Question Id : 6232177356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The commercial rights of the company were abolished 1 the following year:



Options:

1 A 1521,

2.0 1815

z.

_ AD. 1823.

A.D. I1833.
4,

Question Number : 116 Question Id : 6232177357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Among the following leaders, who organised the labourers in India?
Options:
Lala Lajpati Rai.

1

N.M. Lokhande.

. Somdutt.

) B.P. Wadia.

Question Number : 117 Question Id : 6232177358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who was the first scholar that described Sher Shah as a great administrative genius?

Options:
1 R.P. Tripathi.
, K.R. Qanungo.

Sit Woolseley Haig.

3:



Parmatma Saran.

Question Number : 118 Question Id : 6232177359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What measure was taken by Sher Shah to check the revolt of the governer in a distant
province like Bengal?
Options:
No governer having an army was appointed there, but. instead, a civilian officer
called Amin-i1-Bangala was appointed.
1.
Administrative and financial powers were divided and given to two different

officers.
2.

Expionage was strictly organised there.
3.

Governers were transferred frequently from there.
4.

Question Number : 119 Question Id : 6232177360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The following was not preached by Swamy Vivekananda as one of the essentials for
pursuing religion:
Options:

. Education.

Worship of God.

2,

Removal of property.

, Emancipation of women.

Question Number : 120 Question Id : 6232177361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In the following which was not the cause of the battle of Khanua.



Options:

Babur’s decision to stay in India.

Sangram Singh did not help Babur against Ibrahim Lodi.

Babur’s capture of Dholpur, Bayana and Kalpi.

3

Babur’s desire to capture Rajastan.
4.

Question Number : 121 Question Id : 6232177362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Humayun’s failure against Sher Shah was not due to
Options:

Humayun proceeded to Bengal without annihilating the power of Sher Shah in
Bihar.

1

Humayun’s failure as a military commander.

. Humayun’s generosity towards Sher Shah.

Sher Shah was a better military commander and processed as good artillery as was

, that of the Mughals.

Question Number : 122 Question Id : 6232177363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following pre historic sites is known for the mass production of microliths?

Adamgarh
1.
) Nalagonda

X Bagor



Sanganakallu

Question Number : 123 Question 1d : 6232177364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In the following Rashtrakuta rulers, who constructed the Siva temple at Ellora?

Options:

,  Krishna L.

. Dantidurga.

Amoghavarsha.
S

Dhruva.

Question Number : 124 Question Id : 6232177365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who defeated the Chola ruler in A.D. 1310?

Options:

1 Amir Khusru.

Malik Kafur.

z

Mahammad Ghaznai.
=

) Malik Massum.

Question Number : 125 Question Id ;: 6232177366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Kailasnath temple at Kanchipuram was completed by whom?

Options:



; Nandi Varman.

Jaya Varman.
z.

. Mahendra Varman.

Raja Simbha.

Question Number : 126 Question Id : 6232177367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The early history of the Satavahana family 1s not stated in the following work:
Options:

Pratishtanapura Kalpa.

Dwatrumsatupttalika.
z.

Kadhasaritsagaram.
=5

Gadhasaptasati.
4.

Question Number : 127 Question Id : 6232177368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Name the book written by Muhammad Igbal, a Muslim historiographer.
Options:

. The Recollection of Religious Thought 1n India.

_ Kitab-ul-Hind.

z

Collection of Histories.



) Prolegomena to Universal History.

Question Number : 128 Question Id : 6232177369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The title “Vichitra Chitta’ was borne by whom?
Options:

Narasunha Pallava.
1.

Danti Durga.

z

Mahendra Pallava.
=,

Jayasimbha.
4.

Question Number : 129 Question Id : 6232177370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Hindu king that has given shelter to Bahuddin Gustap, who revoltedagainst
Mohammad-Bin-Tughluq in A.D. 1326?

Options:

Kampila Deva.
1.

Kapaya Nayaka.
2

Prolaya Vema Reddi.

Anavema Redd..

Question Number : 130 Question Id : 6232177371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

“Hindus and Muslims are the two eyes of India” — who said that?



Options:

, Rashid Ahmad.

Mirza gulam Haider.
Z.

. Sayyed Ahmad Khan.

, Agha Khan.

Question Number : 131 Question Id ;: 6232177372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Among the following, which was not a cause for the Anglo-Sikh war?
Options:

The desire of Maharaja Dalip Singh to free himself.
1,

The revolt of Mulraj, the Subedar of Multan.
2.

The Sikhs were restless due to the several measures of the English in Punjab.
3

, Imperial designs of the English.

Question Number : 132 Question Id : 6232177373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which policy among the following was not made Aurangazeb. as responsible for the
downfall of the Mughal Empire?

Options:

Rajput policy.

Revenue policy.
Z.

. Deccan policy.



Policy of religious bigotry.
4,

Question Number : 133 Question Id : 6232177374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The primary cause of conflict between the Nizam of Hyderabad and the Marathas under
Peshwa Baji Rao, was

Options:
The Nizam did not want to pay Chauth and Sardeshmukhi to the Marathas for which

they had become entitled by the treaty with the Mughals in A.D. 1719.

Both desired to capture Karnataka.

Marathas strong desire to occupy Hyderabad.

Nizam’s ambition to capture Maharashtra.

Question Number : 134 Question Id : 6232177375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Warren Hastings, on his return to Britain, was impeached by the parliament for nearly
twenty cases, which among the following was, however. not one of the cases for which
he was impeached?

Options:

His role in the death-sentence to Raja Nanda Kumar.

His treatment with Nawab of Avadh.

His treatment with the Robillas.



His treatment with Raja Chetsingh of Banaras.
4.

Question Number : 135 Question Id : 6232177376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following scholars of the Gupta period wrote “Vasavadatta™?

Options:

; Sudraka.

Subandhu.

Visakhadatta.

) Kalidasa.

Question Number : 136 Question Id : 6232177377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Who noticed Tulasidas as the most important figure in the whole of Indian Literature?

Options:

A.L. Srivastava.

, Ishvari Prasad.
y George Grierson.

i V.A. Smith.

Question Number : 137 Question Id : 6232177378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Chenghiz Khan invaded India during the reign of the following ruler.

Options:

Muhmmad Ghori.



[tutimish.

] Razia.

) Qutb din Aibak.

Question Number : 138 Question Id : 6232177379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Ibn Batuta visited India during the reign of the following:
Options:

Aram Shah.

) Sultana Razia.

Firoz Shah Tughluq.

=

Muhammad Bin Tughluq.
4

Question Number : 139 Question Id : 6232177380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who opined that “the value of Chronology is very great for Indian history, which has a
unique record in continuity of history™?

Options:

B. Sheikh Al

, G.C. Pandey.

J. VChobe.

=

Romila Thaper.



Question Number : 140 Question Id : 6232177381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The paintings of the Pallava period can be seen at:
Options:

1 Chittannavasal.

Mahabalipuram.
Z.

Udayagiri.

3

Kanchipuram.
4

Question Number : 141 Question Id : 6232177382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The main purpose of encouraging Portuguese trade in Vijayanagara was one of the
following:
Options:

To encourage exports in textiles.
1.

To import perfumes and medicines.
2

To import best quality of horses.
>

To develop diamond trade.
4,

Question Number : 142 Question Id : 6232177383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The primary cause of the mvasion of Alexander on India was
Options:

. To get name and fame.



. To loot the wealth of India.

To occupy the Persian territory in India.
=

The ruler of Taxila invited him to mvade India.

Question Number : 143 Question Id ;: 6232177384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the following works, which described that Chandragupta Mourya as a Kshatriya?
Options:
Vishnupurana.

. Mahavamsa.

Mudrarakshasa.

Justin’s writing.
4.

Question Number : 144 Question 1d : 6232177385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In the Mouryan military administration which one of the following department did not
exist?

Options:
Navy.
1.
Transport.
2

Communication.
=,

Infantry.
4,



Question Number : 145 Question Id : 6232177386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Hiuen-Tsang remained in India for how many years?
Options:

Sixteen years.

1.
Fourteen years.
Twelve years
=5
Ten years.
4,

Question Number : 146 Question Id : 6232177387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Who was the author of ‘Brihat Katha Manjar1™?

Options:

, Banabhatta.

. Bilhana.

Kshemendra.

) Sudraka.

Question Number : 147 Question Id : 6232177388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

“The facts do not speak themselves. but historians make them speak™ — whose remark
1s this?

Options:

Butterfield.



Croce.

E.H. Cait

3

Ranier.
4,

Question Number : 148 Question Id : 6232177389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Buddhism was divided into Mahayana and Hinayana during the course of its:

Options:

First synod at Rajagriha.
L

Second synod at Vaishali.

Third synod at Pataliputra.
oy

Fourth synod at Kashmuir.
4.

Question Number : 149 Question Id : 6232177390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
‘Mudrarakshasa” was composed by
Options:

Kalidas.

) Visakhadatta.

Koutilya.

i

Sudraka.

4.



Question Number : 150 Question Id : 6232177391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which among the following completed the autobiography of Jahangir, after his illness?

Options:

, Gulbadan Begum.

i Nizamuddin.

; Muhammad Ahmad.

Muhammad Hada.

Question Number : 151 Question Id : 6232177392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

R.C. Dutta was the first scholar of India that has written

Options:

Diplomatic history.
L

Social history.
. Economic history.

National history.
4

Question Number : 152 Question Id : 6232177393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
As a means to propagate his Dharma, which among the following was not adopted by
emperor Asoka?

Options:

Asked his officers to enforce the principles of his Dharma.
1.

Engraved his teachings on rocks and pillars.
2



He practised what he preached.
o

, Appointed Dharma-Mahamatras.

Question Number : 153 Question 1d : 6232177394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who has written the book entitled “Vaishnavism, Shaivism and Minor Religious
system”?

Options:

R.L. Mitra.

, R.G. Bhandarkar.

. R.C. Majundar.

i K.A. Nilakanta Sastri.

Question Number : 154 Question Id : 6232177395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who noticed thus: ““Tt 1s but natural for a historian to be biased”?
Options:

Gooch.

. Auckshot.

. Croce.

P. Gardiner.

Question Number : 155 Question 1d : 6232177396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The great city of the Deccan, Hyderabad was established when the following king was
on the Vijayanagara throne,



Options:
Sr1 Ranga Raya.

1.

Venkatapati Raya II.

2

Venkatapati Raya 1.

=

Rama Deva Raya.

4

Question Number : 156 Question Id : 6232177397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Madan Mohan Malaviya was a member of
Options:

Ghadar Party.

1.

, Social Service League.

3 Hindu Maha Sabha.

Hindustan Republican Association.
4.

Question Number : 157 Question Id : 6232177398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Who supervised the first excavation of Indus Valley civilization?
Options:

Sir John Marshal.

Rakhal Das Banarjee.

i

. Alexander Cunningham.



James Princep.
4

Question Number : 158 Question Id : 6232177399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The writer who has stated that Ala-ud-din Khalji invaded Chittor for Queen Padmini:

Options:

Isami.

| Mohammad Saki.

2

. Sayyed Mohammad.

Malik Mahammad Jaysi.

4

Question Number : 159 Question Id : 6232177400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The conflict between the Bahmani and Vijayanagara Kingdoms started during the
period of the following Raya:

Options:

Virupaksha Raya.

, Mallikarjuna Raya.

Hari Hara Raya L
=

Deva Raya L
4

Question Number : 160 Question Id : 6232177401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Who has contended that Harshavardhana was not the last empire builder of Hindu
India?

Options:



R.P. Tripathi.

L

R.C. Majundar.

Iswari Prasad.

\ U.N. Ghosal.

Question Number : 161 Question Id : 6232177402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

During the early vedic period, the Aryans penetrated into India towards the East up to:

Options:

Pataliputra.
1

Banks of the river Yamuna.

z.

. Bengal.
Bihar.

4

Question Number : 162 Question Id : 6232177403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

One of the understated was not the cause for the rise of Jainism and Buddhism in 6%
century B.C. Mark it.

Options:

6™ century B.C. was a century of religious awakening.

Vedic religion had ceased to be a living force at that time.



Deteriorated economic condition of the society created discontentment, which

resulted in fresh philosophical speculations.
3.

R1gid cast-system and deterioration in the condition of women.

Question Number : 163 Question Id : 6232177404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Jamism declined due to not one of the cause given below:

Options:

Absence of patronage by the later rulers.
1.

Declining morality in the Jaina Sanghas.

Competition with Himnduism and Buddhism.
=,

Absence of popular religious preachers.
4,

Question Number : 164 Question Id : 6232177405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In the following, which was not a contributory factor for the rise of Magadha during 6@
century B.C.?

Options:

Its war-like people.
1.

Its strategic geographical position.
z.

. Its iron-ore deposits.

) Ambition of its rulers.



Question Number : 165 Question Id : 6232177406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Pattadatcal temples belong to the following rulers period.
Options:

- Pandyas.

1

; Hoyasalas.

Badamic Chalukyas.
i

Cholas.

Question Number : 166 Question Id : 6232177407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Who has stated that “Social history is background of economic history and basis of
political history™?

Options:

Lord Acton.

1

Spenglar.

z

Ranier.

Karl Marx.

4.

Question Number : 167 Question Id : 6232177408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The earliest exposition of Saiva system was established by
Options:

: Basaveswara.

’ [Lakulisa.



. Nandiswara.

Sankara Charya.
4.

Question Number : 168 Question Id : 6232177409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which one of the following works deals with the grammar?
Options:

1 Mitakshara.

Tolkappiyam.

2

. Sannavati prakarana.

Viswagunadarsa Champu.
4,

Question Number : 169 Question Id : 6232177410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The military department under Vijayanagara Rayas 1s named as.
Options:

Dandavinitha.

Athavana.
2.

. Amaranayaka.

Kandachara.
4.

Question Number : 170 Question Id : 6232177411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The French company lost the port of Musilipatnam to the English company 1n the year,



Options:

; AD. 1739

, AD. 1749

AD. 1759

3

, AD. 1769

Question Number : 171 Question Id : 6232177412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The Governer that re-established the Department of Archaeology in India and brought
an Act in 1904 for the protection of archaeological material,

Options:

William Bentinck

Dalhousie

] Robert Clive

Lord Curzen
4.

Question Number : 172 Question Id : 6232177413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the following, who first translated the Bhagavad Gita and Hitopadesa into English?

Options:

H.H. Wilson.

) William Jones.

Henry Colebrooke.



. Charles Wilkins.

Question Number : 173 Question Id : 6232177414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Who first expressed the view that the Aryans were the indigenous people of India?

Options:

, D.S. Kala.

Bal Gangadhar tilak.

z.

] Ganganath Jha.

Rajbali Pandey.
4

Question Number : 174 Question Id : 6232177415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

One among the following does not justify the contention that the age of Shah Jahan was
the golden period of the Mughal rule.

Options:

He extended the territory of the empire beyond the frontiers of India.
1.

. Economic prosperity was wide spread.

Architecture made tremendous progress.
=,

It was a period of agrarnan tranquillity.
4.

Question Number : 175 Question Id : 6232177416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following held that the climate of a country greatly affects the civilization?

Options:



, Huntington.

). Lock.

2

. Crose.

Buckle.

4.

Question Number : 176 Question Id : 6232177417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following causes was not responsible for the success of Sivaji against his
rivals?

Options:

Bijapur could not use its entire resources against Sivaji.

, Golkonda helped Sivaji several times.

Constant conflict between Bijapur and Golkonda.
s

) Aurangazeb remained busy in the north during the first half period of his rule.

Question Number : 177 Question 1d : 6232177418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The use of marble in the construction of Mughal buildings started during the reign the
following ruler.

Options:

1 Aurangazeb.
Shah Jahan.

Jahangir.
>



. Akbar.

Question Number : 178 Question Id : 6232177419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

“History 1n the broadest sense is everything whatever happened” — who said this?
Options:

A L. Rowse.

EIL Carr

2

Callingwood.

, Henry Johnson.

Question Number : 179 Question Id : 6232177420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What was the nationality of Max Muller, who translated the Rigveda and a series of
sacred books of India?

Options:
, British.

X French.

- German.

Italian.
4

Question Number : 180 Question Id : 6232177421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

“True history 1s an art, but a special kind of art” — which historian has remarked?
Options:

1 Toynbee.



5 Croce.

. Spengler.

Herodotus.
4.



